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Write a second step for this question.

Katie bought a pen for 26p and a pencil for 12p.

Work out the answer to your question.
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a) Will buys a g and @ .

o Qe

How much does this cost?

£6 £5
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b) How much change does Will get from £20?
( £20 |
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Will gets £[:]chqnge,
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A @ costs £14. The (%2, cost £30 more.

a) How much do the > cost?

Ea—
(-]
The (%7 cost EDA

b) What do the items cost in total?

The items cost ED.
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An ' costs 65p. A costs 40p less.

What is the total cost?
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What is the total cost?
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@) 1zzy has £12. Amin has £30 more.

How much do they have in total?

«

Izzy and Amin have ED in total.




